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That is comparable to the case of ‘nine stores’ — DR YN 17

OVERVIEW

The X713 states that if there were nine piles of 7X»n and one pile of y721, and a mouse
came and took a piece from one of these piles and we do not know if it took a piece
of 71¥n or a piece of ynn, this case is comparable to the case of ‘nine stores’. If there
were nine stores in town which sold 70w w2 and one other store which sold w2
79°21 and a person bought meat from one of these stores and he knows not from
which store, this P90 is ~ox.! However if the meat was found outside the stores it is
7w2.> The same rule applies to our case of 1™112% 'v. If the mouse took it directly
from the piles then M0OX 17°00; if however a piece separated from the piles and the
mouse took that piece we follow the majority and assume that it is 7¥n. It is not
clear from the X3 however, to what specific situation this ruling is referring to.
There 1s dispute between *"w1 and NMdOIN in this matter.

*

— DAY 135399 NP XY *nprTa Payy Po900pn wraw nn saY
According to the interpretation of >''w=9 that this ruling is in reference to

searching for ynn, the '3 finds that the X773 is not clear. There is a difficulty in
understanding the X713 if we assume that the issue is whether the house requires 7272 under such

circumstances. NM20N explains the difficulty -
— NIIINT 199N RIPINNT NP290 20T MMNIN YVUNN NN NN 2I3NT

For how can the X3 bring proof how to deal with this case from nyin ywn?!
For there by n1"1n 'v (since it is ¥13p) it is a P20 in a 770 law, and we follow the

stringent option and forbid the meat to be eaten -
— ST1102 19599N T NIA 19291 NPIOD NIM)

But here, if we are discussing 7?>72, it is merely a 12297 % as the X 13 shortly

" This is the rule that *»7 7¥mn 9y 7¥m5 ¥12p 93. If the X is “in its place’ (like the store which sells 7%°23), then
even if it is a V1¥'n, nevertheless it is considered as if the MoKk and the 7n°7 are equal. It remains a Xn>7IRT Xp'50
which is judged in a stringent manner; therefore it is (usually) 7108. The rule of ¥12p is derived from the 2°717) 109
(x°,0° [2uo12] of 12¥ oY 1% 27K, See X, M2AIN2.

? This rule is 'w>75 X217% w127 72'. We assume that it ‘separated’ from the majority.

3 xnxy 172,

* The mouse took this piece and entered into a house with it. The issue is whether this house must be (re)checked for
y1n or not.

5 In the case where he bought it in the stores it is considered ¥12p and the rule is that “»7 7%nn %Y 7¥nPd 313 93;
therefore it is a 790 and by a Xn™7IXT OO we are strict.

x> q7. The X3 states that ynn np>72 is 13277, for X118 77 the rule is that 91002 alone is sufficient.
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states. By a 131217 20 we are lenient .

mooIn offers a possible solution to justify >"w7s:
— %5153 NHY 1119 399NT DY YW 19

However it is possible to say that the X723 is discussing a case where for

instance he was not »van the y»n. In such a situation by 1M2¥ v, the 7pP*72 can be
considered a Xn»X7n 21’1, and therefore this is a XN™7IXT PO, just as by the MMI7 v and it is
indeed a fair comparison.

mooIn has an additional difficulty with >"w7° that we are discussing 7p>72:
- 9‘.71‘12 NPINNR NHPIN NN JAN 9990 NPIN XD NN YUN 22)T AYUP I

And there is an additional difficulty to assume that the issue here is whether
7?>72 is necessary, for by nmin 'v there is no presumption of permissibility [as
far as this piece of meat is concerned], however here (by 1"112% 'v) let us place the

house on its initial presumption that it is a searched house and has no need to be
searched again.

mooin explains why there is a 172 NP1 to the house:
— P12 Y¥aT RVIWD 91 IND INT 99991 PITaa NNY

For (according to *"w1) we are discussing a house that was 173, for if this were
not so and the house was not P172, then certainly it requires 71?572 (even if the
mouse did not bring in anything at all). Therefore since this house has a 172 npin this should

resolve the poo whether the mouse brought in 21 or 7¥n. The 172 NP1 of the house resolves this
700 that we place the house in its initial 7177 that it is 2172 and requires no additional 7p>72.

mooIn has two questions on >"w7°d that the issue here is whether the house requires 77°72. 1. How
can we compare the case of 1™12x ' which is a 131277 X090 (for y»r nNP*72 is only 112771) to "0
nMan which is a Xn»IRT X800, 2. Even if we will assume that he was not 50an the y»n and here

7 Granted that the 7712% ' is considered ¥13p, but nevertheless ¥12p is %71 Yy 787m0 which makes it an ‘even’ Poo
11277, and by a 11277 po0 we are lenient. It will be necessary to differentiate between this 11277 P50 (where msoIN
claims that we should be lenient), and the case where a 77231 brought v into the house and there is a o0 whether it
ate it up (where we maintain that 71p>72 is required). In the latter case, yn was certainly brought into the house; the
question is whether it was eaten, in such a case there is a 7172 2117 (for the entire 73pn of y2r NP>72 is only on a pod
that maybe there is v in the house), however if there is a poo if Y11 entered into the house then we should rule that
XD 11297 Xpo0.

¥ We will say that even though the following case of 21 P112°¢ '3 is discussing a case where he was “van,
nevertheless our case of P112% 'v is discussing a case where he was not 7v2an.

? Even if it is a XN™ X7 Xp*00 (where he was not Yvan the ynn), nevertheless the rule is that by a Xn™MRT Xp"O0 we
rely on the 7311 to resolve the P90. See 072X N>72,°"19, and others who discuss how the 2172 npin of the house can
resolve the o0 of whether this 712> was y»ri or not.
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too it is a Xn™MKRT K00 (for whenever the ¥ was not vani there is a Xn>RTA 72772 20N0),
nevertheless our case is different than N1 "v. By n1min 'v there is no 07 npin for the meat that
was bought; however here the n°2 (which obviously was already searched) has a 2172 npin. The
an°7 npin should resolve the 750 in a lenient manner.

mooin offers his explanation of the case of 7712% vt
—IND ON NDIIND MY AN SPAP N¥MI NH%2Y 925y NOANY PPIYDT PN 139297 NN

And it is the view of the >''1 that we are discussing a case where the mouse
brought this piece that he took from the piles into the house and it was found;
the question is whether this piece is permitted to be eaten or not."

nooIN asks:
— Myyan 155 25WN INRNN 199135 5311 YPYI 939Y NAN 5 TN ON)

And if you will say; when the mouse came and took from these piles why is

this considered 12p?!
— 9923 72 NN 920Y 292 NN NIV *NNID

What difference is there if it was found in the mouth of the mouse or if it was
found in the ‘hand’ of a gentile?!

moon will show that if a P90 is found 721 7°2 it is not considered ¥12p:
— 90 1PN 12 DHYNIY TV 9INRT 29D 7999 (0w x,nx pny NVIN D9 PI93Y

For in nwin 753 99 the X3 challenges 29 who maintains that meat which

disappeared from ‘the eye’ is forbidden -
— 2990 NN 70N N8MIN

From the ruling of n1in 'v which states that if the meat was found then follow

the majority. It is evident that even if the w2 was v 7 0%vn1 (for it was ‘found’) it is .
— 5993 193 NSV 23U

And the X answers that the case of N1™Min v is where it was found in the hand

10 This resolves both difficulties; in both cases it is a RN™MIXT X0 (a 7921 1K Poo and a yrn 1O Poo) and there
is no N7 NP on this piece (of meat or what was taken from the piles). Therefore we can derive the ruling of
1"12x from N1 "0 since both cases are identical. See ‘Thinking it over’ # 2.

"It seems that when asking this question nM921n assumed that the case of ¥12p by the 1128 v was that we saw the
mouse going into the house from the 1™12% . [We recognize this piece is from the 7112’ piles.] We did not however
actually observe the mouse taking the piece from the 7"112%. See following footnote # 14. Perhaps n1901n maintained
in this question that the rule of ¥12p is only when the person himself goes to the 12777 21p», not when something was
taken ¥12p7 2.

"2 If meat was not seen for a period of time, it is forbidden to be eaten, for we are concerned that perhaps birds took
away the original meat and replaced it with 750 qwa.

" There is no concern of ‘birds’ exchanging the meat. The *121 bought it from one of the stores and is not suspect of
tampering with his purchase.

3

TosfosInEnglish.com



ywn i a7 'o1n 2,0 2°noD L7023

of a 9921 (it was not Py 12 0%wn1). In any event even though it was found >731 7°2 (and the >33
acquired it only from the stores), nevertheless it is considered w75 (and not ¥12p) and it is .
Similarly if we see the mouse entering the house it should also be considered ¥7°5 and not ¥12p
(even if we know that he took it from the piles).

N1B0IN answers:
— Myyann 11 NPYY 19RIWS 59953 NINT PN 13529 INIIN)

And the 5''7 answers that here by 7"712¥ ' we are discussing a case where we
saw that the mouse took from the ¥13p (we saw him taking it directly from the piles), so -
— MIAP DYPNA PODN 1INV

That the P20 was created in the place of M¥s2ap therefore it is considered y123p -
— N2)9 912 19°9IN) WA %Y 1IN 139N NY ON YaN
However if we did not see the mouse taking a piece from the piles (but rather
noticed him running toward the house from the piles with something in his mouth)
then it would be considered like it separated from the ¥12p and we would follow
the majority, thereby rendering it 7¥n. Therefore by the >721 since we did not see him

purchasing it in the stores, the P90 was not created in the my api 211 (the stores); it is not
considered ¥2p, but rather w°s.

mMooIN anticipates a question:
— “mnnn MNON 19YMY BINAT 533 (2,5 97 oonan MAIYNA 72999 N

And that which the X713 asks in M219yn 275 concerning live sacrifices which

became intermingled with nXwn sacrifices that are to be Kkilled -
—HPoUIN NVAIN

Or these live sacrifices were intermingled with an ox that is to be stoned, the rule is
that in either case all the sacrifices are to be put to death and cannot be brought as a 1277 even if
the sacrifices are in the majority. The reason is that since they are intermingled; therefore on
every animal, there is the possibility that it is a 7’7 DXV or a 2P0 M. The X3 considers this
mixture ¥12p, and it is a P90 of XM 7¥MN, even though the 2’121 outnumber the Mn»n7 NMIRLA (or
5p017 MW). The X3 there asks -

— 599 N2 YIDT 95 NI 11379930 9103 B3 1N INNN

Why should all the 2’127 die?! Let us pressure them so that they will move so

' This is not as Moo assumed in his question. See previous footnote # 11. What establishes the rule of :12p is that
the P90 is created in the ¥12p77 0pn, regardless if it was a man or a mouse.

15 We refer to this P19 as (127wnw) o°nar 9a.

'® One example of a InMA NXVA is a NXVA whose owner (the one who was obligated to bring this nxvn) died. This
nXvn must be put to death; it cannot be offered on the 12 as a 127p.

'7 The xmx there answers that the reason we do not do this (32371 wad)) is because we are concerned that he
may take from the ¥13p (before they have a chance to separate). See later in this n1901N.
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it will not be considered ¥12p, and (as the individual animals will be separated
from the [large] mixture) we will say that whichever animal separated, he

separated from the majority of the o’nar that are fit for the nam. This concludes the citing
from the X773 in 2°1727. MBOIN continues with the question:
— YD DYPNA PODN TN 129V 39 Y 9N

even though the doubt arose in the place of the nw>ap. There was initially a poo
when all the animals were ¥12p (before they were moved). n901n here just explained that once
we see the P90 in the place of the My 2p (we see the mouse going and taking from the piles), we
cannot say afterwards w15 8217 w197 5. How can the X3 there ask 172°7°°1) 17w to make it
w9, once there is a MY 2P 0112 290, there can no longer be a rule of w15 &2177!

mooin replies:
—95% 139N) 91PN2 29PN NUIRNY 0 AP NN RIT 0NN IINY

It is different there (in o°n27) for it was never a complete ¥12p; for the 9105 was

intermingled with the 2057 and the 710°X was not noticeable -
— DT 22 10N 2291

And this type of ¥13p where Mo°X:1 1217 X7 is forbidden only 323977 -
— ®10ym1a 9179 9IDINNY NIN $12D 29UN RY XN NNTIT

For 7171071 12 it is never considered ’»12p unless the =19 is known in its place.
Therefore by a 71277 ¥12p we can say that if later it becomes w15 we will say w18 XR217n.

mooIN points out that this difference has an additional consequence:
SN MOIND PRY 11D NEDIAN 12PN 11 NP NNAY 290 0NN 13991 133 Y9N0

And therefore also the 02017 are 91 there that even if they will be separated,
nevertheless we forbid the w19, for perhaps he will take from the »127; however
this 7712 is not made by m™in 'v if it was ‘found’. We do not say that even if it is
found and was 79 it should still be M0OX on account of the 77°1) that 1 P> XAw
112pa. This 7712 is only by the a°nar. The reason is that by the 2°mar the 771 is

fitting since the 919°R is not known, therefore if we allow the w9 the people will not
distinguish the 5 from the ¥13p. However by n1"in v everyone will distinguish between the
w9 and the ¥12p; even if we permit the w19, no one will be 7°n» by ¥M2p (since it is MOXI 1217).

SUMMARY
According to *"wn the case of PM12X ' is concerning the obligation of 7P 73,
however according to mo0in the issue is whether the piece is permitted to be eaten.

'8 In the case of M1 v or 7M2x v the MO°X (the 79°21 NI or the Max of ynn) is clearly identified in its place.
"% 779071 12 we would follow the 217 in the case of the 127wnaw o°nar and they would be “nma.
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It is considered ¥12p if we see the mouse take it from the My 2pn 0P, otherwise it
1s w1, It is considered Xn»MK72 ¥12p if the MoK is known. If it is not known
11P2 then it is 3327772 ¥12p (and even w°15 can be MOK, on account of the wwn that
he will take ¥12p77 1 since it is not 12°2).

THINKING IT OVER

1. What would the "7 be if the 720¥ took from the 7112°¥ (and we do not know
from which), and later we found (in the house) half of what the 720¥ took, does the
house require 71p°72 (for the other half) or not?%

2. According to Moo1n why was it necessary to mention the 1220y at all? The cases
can be (without the 723Y); either if the person took from the piles or he took from
the wo!*!

20 See HxAw 127
2 See n"yx.
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